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1.1 MATLAB#®Y #1ES+0

MATLAB Matrix Laboratory) &—NIhEERRKNBIMNTFL AT
WHRE 2 ARITEIES (The Language of Technical Computing) o

4\ MATLAB 7.100 (R2010a) l=|E@] = |
File Edit View Debug Parallel Desktop Window Help

Y 5 | A EBER9 M | & i B | (7] | Current Folder:| FAEZIT L{E v|E] =

© Shorteuts [#] How to Add [#] What's New

Current Folder w O a8 x| Command Window + 0O a X | Workspace +1 [0 & x

an | Je@dm. » v O & 1) New to MATLAB? Watch this Video, see Demos, 1% 5] . Ta) & B ||@Se|e... -

Name & parameter, solv
MNGS_PHTan_rev(0).ppt =«

|_| nihe.asv

T NLG-3Lixt [a,u,v] = solve
L] NLG-4Lxt

= NLG-5Lxt the three equat
|| NLG-BL.txt

| NLG-7Lixt

| NLG-8Lixt
= NLG-Cxls See also dsolve.

i
[ I T et e S P8

nihe.m (MATLAB Script) bt

Reference page 1n

doc solve

Jx> :
« i

4\ Start

Mame =

4 LI

Value

3

Command History

+1 [ A

a%— 13-3-27 +4-

~lookfor
~lookfor
~lookfor

4 1

cle

solve

~help solve =

b
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1.2 IESTEHOBITHAE

"

ﬁﬁf%ﬂ—:\‘ﬁ“:
THEARTIEE:
AR ERE:

SIREREIZH

& B -
AR RIEH

PATIE 2
PATIER:
AT B

>
>>2% (300-2%i) “2+1/sqrt (5+2%1)
>>A=b2. 738, a=3.2477e-2
(a=3. 2477x10" (-2))
>>B=A+a
>>syms a b c¢ X
>>f=axx” 2+b*x+c
>>solve (f)
>>cle, clear, clear all, clf

>>open, load, save
>>help, lookfor



R ETTBRN

1. ZREZRX KNG

2. REAVUIXFRIN, B—ANFBE 7 PMEH 78,
7. PRI%, EAREHTZHRNESRTS

3. REAKEAGH3AL, H# HHER - 45 2

4, FEFEBMACMEAREMEM, WITEMATLABHRRE
Bophr, [EHWTCMENRERH




EF MA X =F

Pi JEES
eps F RBRIANHRZE 2.2204e-016
Inf ANT-107 {308} &
W%\ 10/{1024} 8% 5/0
NaN ANEET 0/0
Realmin &t/ IESE%
112.2251e-308
Realmax &t KIESEEL
111.7977e+308




>> x=0:0.1:6; %E LR EX
>> A=[x: 4%x]: %BEE N AT I FE PEA
>> B=sin(A); %iHEAR IR 5% R BUE

>> plot(x,B(1, ), x,B(2, :)) %mH P I1F5% 2R




plotmAsk

plot(x1,y1,x2,y2,...) HLEHZE

plot(x,y,'color style marker') ¥§ B0, 2%, fnd
Pith: Hc, HF4A m, Hy, 4, %%g, b, Hw, Bk
LR R SRek-, MRILR- -, REk:, RKIZ&-.

A, S+, HEo, ES* X5x

U s, Eifafed, TATEp, NAh,
=/ (| kv, EFA A<, FAS)

>> plot(x,B(1,:),'r:+') |

=

=

B — 2k AL B RO HE 28, B0 R+ 5 1n S



1.3 IB\HFHSIOMNERTTA

ﬁ%ﬁ%ﬁfﬁ%%ﬁ%ﬁmﬁ+ﬁﬁﬁ,ﬁEEmWﬂm%
10" {308}

short (BRIN) ML EEHALL PRI E RE, BHTEEHshort e
Long 2B H AP /N B R, B HTEE N A Llong e BN
short e  SAMEUFERIERE HAp 1A B S04 /MY

long e 16RO BB, P 1AL BB 1400 /MY

short g  ERNETF, HINEFEE REENE R

long g BRI T, BINEFEE REEF R

hex 1647175 3EH1 2
Bank BATHWAL /DK B R
- ErBFRIFSRIE. AEFE

rational  Z3EUEAL



234.7896

short 234.7896

long 2.347896000000000e+002
short e 2.3479e+002

long e 2.347896000000000e+002
shortg 234.79

long g 234.7896

YR FER} format long;

45.6985678945128

45.6986
45.69856789451280
4.5699e+001
4.569856789451280e+001
45.699
45.6985678945128



B2 FFEREE A shortFllong KXt
RiTHREFAE

BT BTG RE

format long;

A=0;

for k=1:300, A=A+1/3; end

A A = 99.99999999999966

for k=1:300, A=A-1/3; end

A A = -6.994405055138486e-015

B=sqrt(A) B = 0+8.363255977870393e-008i



il



2.1 HI|\EERHIBESZW

» #rEscalar: L O &2

« %< ¥vector: —l R —F &K, A1)

o 4E%Ematrix: mxn#&) — 4 % 3%, B (m, n)

« 7|M*array: k23, M, m,n. .)

o ¥ IEMAmeshgrid: LEIE, =EEH

o« X TP Mcell array: % # XK IETHE

o &M P|%Estruvture array: BB LD
% XEKIETE, AREEBIAEASTH




2.2 SEREAYINESIFIR

» 4=[2,4,5; 9, 7,11 IRAHSEREFRTABF
A= 2 4 5 WTEAZ A MER 5 B
9 7 1 AR 75 R

>>zeros(2,4) A RUTAF| 1) 4B
>>ones(3,5) ERMTHF M A E A 1A E
>>rand(3,50)  AMATH0T 695 5) A 49 AL AE [

SR eAFERRAERE A AL [ A

iR AR R A A= | AC3)A



2.3 SEFEBYIZI

2 a1 B} =1 F
x= }]!I vi i b |_| or
T A AT | A Rty

) 03B JEA R o F A
o LA T IER G I FLC = BIEMSEARIEIE, A=A %A

o SEFEIESE PR B IR AE BRI 60 3R 3, B=AxA

o SNEBIE4 3B PN BB T EY BB
L. AFFEE A AU B J: do RAEMF 49 & U4 EiZ{dsin(A)
2. M HE[F ) — | X —AT L EME F: AR A7 09 Fesum(A)

3. X EEANSEIE B AR EE M09 inv(A)

% F Ao | R | R A R A R R
fEMEE g Ay AT (IRESR) |+ | — | x| / |\ | A
BFBFAFIA (TBRE) |+ | — | = | ./ |\ | A




Difie

AT

ilas

o J 3k function
AeEm N E  BEiRE
5 4% N3tH ST o) K [
T4 N PN E
A1 BRECCA:

MIEER| FEE %
1. for ....endfEH 4
2. while......endfG¥ 4514

3. if ....else.....end 7} > &5 14

4. switch....case



HEE: —h-FawX MRRE SRE BYE LTA,...
4R B H NEREREBYEH......
W4-h B A HKA LRGeS FELEN....
~NE-EAREY

BB R R R REUE R R A ...

ik,  MELFHEFRM, AEAASNEALE, kb ivs,
REEAEL5EH.....

NE T i EE, FHHE, Wi ed, HaRGBELS.

AR fig bmp,eps,jpg tifa 1 U,



plot
bar
compass
contour
errobar
ezplot
feather
fplot
fill
hist

B—45R %5

27K
RESRNIHETH
Ex -y @ EFHAA
% £

oy A Y &

B ox WA &k TH
FAR TR =Yt 2%

F& % AFHE
St A T B

comet
loglog
pcolor
polar
quiver
rose
semilogx
semilogy
stem
stairs

B ZfH 2 &
AT A A AT 4
AR

A A
xTHH
Gt SR R B
x AhatHORAT I &
y Ahat AL AR &
KRATH

4



Pl AWKITBEZNE R0 — 21sE B ASsin(X),
cos(x), 2*sin(x)*cos(x), sin(x)/cos(x)

clc;clear;

* x=linspace(0,2*pi,30); y=sin(x); z=cos(x)

e u=2*sin(x) .*cos(x); v=sin(x)./cos(x);

* subplot(2,2,1) ,plot(x,y) ,axis ([0 2*pi -1
1]) ,title('sin(x) ')

* subplot(2,2,2) ,plot(x,z) ,axis ([0 2*pi -1
1]) ,title('cos(x) ')

* subplot(2,2,3) ,plot(x,u) ,axis ([0 2*pi -1
1]) ,title('2sin(x)cos(x) ')

e subplot(2,2,4) ,plot(x,v) ,axis ([0 2*pi -20
20]) ,title('sin(x) /cos(x) ')



P2 Logistic#tEs
Tny1 = (T — ;fg) O<pu<d 0<z<])

mn

* u=2.6:0.001:4;
e x=0.6;

e for j=1:150,

* xX=u.¥*(x-x."2);
* end

e for i=1:100

* xX=u.¥*(x-x."2);
* plot(u,x,'r.")
* hold on;

* end



P13 FARPSRIRGSHaYHLAX

clc;clear; 30000 |

E = linspace(0,1,40000) ; A= > i

Ex = 0.6;r = 10~ (-2);V = 1;sumG = 0; &

for k = 1:30000 G xx=lm(E_Ex+ir—V2A)
sumG = sumG + 1./(E - 1/k + 1li*r);

end
Gxx = imag(l./((E - Ex + 1li*r)-V*2.*sumG));
plot (E, Gxx)

clc;clear;

Ex = 0.6;r = 10*4(-2),;V = 1;A = zeros(1,10000) ;E1 = zeros(1,10000);
for h = 1:10000

E = 1*(h-1)/9999;sumG = 0;

for k = 1:30000

sumG = sumG + 1/(E - 1/k + li*r);

end

Gxx = imag(l/((E - Ex + 1li*r)-V*2*sumG)) ;A(1l,h) = Gxx;E1(1,h) = E;
end

plot(E1l, A)



=M TFEIES

TR HLE: =HSH AR (plot3 (x, y, z) )
k. T F$84S Wsphere; cylinder; ellipsoid
R FHEIEMNEAEEE, HiE4S1EE




mush i 2%, [ mushe MK B B d 54K
surf Fom B mushz M 28 B8 7 He A E -
surfe & o S Re,



B =jaldigk, RIFFWIo)al g

subplot(1,3,1),
t=0:0.01:15;x=sin(t);y=cos(t);z=t;
plot3(x,y,z,'-.")
view(-60,18)
subplot(1,3,2),
sphere(40)
subplot(1,3,3)

a =-5:0.5:5;b =-9:0.5:9;
[X,Y] = meshgrid(a,b);

Z = sqrt(X.A2+Y.72);
mesh(X,Y,2)



il



3.1 #Igze

1. 7618, P&, XA T L4
2. RAAZR R
3. FFT
(DFT— & #1F 2 =+ T 3%
FFT— b 1§ 2ot T #
FFTZDFT#9 Beig H ik
g4~ fft, ifft, fft2, ifft2, fftn,

i fftn)



& 1a

EHEHE A, RMNARE, ¥HAAE
aE— R ORI HIE &
A& —ERRER S BRI R E R /D
ZWNFEEE, FEENEEBAEES TN, FHEES TN,
BIRKFeta{E 2 T .

7 BfE

Pk
164 i IR
interpl — #3540 nearest ML M IEA
interplq Riz—#4i3G{4  linear REFEA
interp2  —HdG1h spline ZRARF G
interp3 Z%E361454  cubic = 7 M

interpn N EE R R



yil=interpl(x,y,xi,

iH H 3 B
x=0:10; y=sin(x); %R
xi=0:.15:10; AHAEL 2.

'nearest’);

yi2=interpl(x,y,xi,’linear’);

yi3=interpl(x,y,xi,
yid=interpl(x,y,xi,
subplot(2,2,1)

plot(xi, yil xi,yil,’r

subplot (2,2,2)
plot(xi,yi2,xi,yi2,
subplot (2,2,3)

plot(xi,yi3,xi,yi3,’r

subplot(2,2,4)

’spline’);

Yeubic?)

)

’I‘.’)

%)

plot(xi,yi4,xi,yi4,’r.’)

AP, vAIE5Z % 49104

TEM‘F?’J/?’?*’ (R B &
. BH &97‘4’?/% L 41/
'f%fﬂﬁk[?\ FF 8 i 2%,

1 1
T ol
05 l ‘ rl 05 jr\ \ },/‘ \
osl e | of S‘g J \
| ek v \
05 L ‘ 4 o5 "\‘ 7
1 bt 1 N
0 5 10 0 5 10
1 1
7S
05 J!’ I‘i / \‘« 05|/ \ /\q
A ‘ \\ / [
0 4‘ : \’ 1] b J \
4 f | | /
05 ‘1 \/ | I \ ]
1 1 N/
0 5 0 0 5 10




& N5 4 cftool

B Curve Fitting Tool ==

File

LY

=

View Tools Window Help

1) If you have three dimensional data, try the Surface Fitting Tool

[ Data... ][ Fitting... H Exclude... H Plotting. .. ][ Analysis... ]




R BIR

solve —_gﬁ@%gﬁﬁjﬁﬁ
XTTAER T FERESKRE, KH
fzeroBRi %, T PAHSRKELE EFQ% A TERIR .
WK N: x=fzero('fname’,x0,tol,trace)
LHxOCABRERPER, — MRV ATBEE Z MR,
szeroZl%f(A,n BIX0 T A ARAMR .
fsolve %, T PAHRKRIELMEFTIEHBIMR
TR N: X=fsolve('fun',X0,option)

L X0 RIRSFERIVIME, option NI TR
fﬁﬁ‘]ﬁﬁ.m&fé




RF IR BRYPI]

myfun_qiugen.m

function g=myfun_gqgiugen(p) 2 {'ﬂ'“"l:'r} + V/E o lll{‘:J =1
x=p(1); 2"+ 2y —8z= -1

y=p(2); r+y—cosi(z)=0
z2=p(3);

q(1)=2*cos(x)+sqrt(y)-log(z)-7;
q(2)=2~x+2*y-8*z+1;
q(3)=x+y-cosh(z);

myfun_qiugen_call.m
x=fsolve('myfun_qiugen',[0.5+0.5i,0.5+0.5i,0.5+0.5i])

BITEHR: x= -0.0145 + 1.6010i 1.0567 - 1.7481i 0.4442 - 0.3262i



K5 T2 B SR AS B 258 £(x) =x-10x+2=07E x0=0.5 1 [T

funx.m
function fx=funx(x)
fx=x-10*x+2;

funx_call.m
z=fzero('funx’,0.5)

»

ITER: z= 0.2222

(N

B—MgRFE AV funx=inline('x-10*x+2');z=fzero(funx,0.5)

inline SR X NBEREL, TIDAEEE X RBIRIERN, PREMHRE
FIm3CF CBP function B & = B2 (AZE) )



il



3.2 MERZT EHHKD

1. #5211 hE (ZIAATREETHER
MBALS AT, RREFHERETHT O
Hizf, ez 20#E: FTREXMNEH,
HE52AXNEES, LR, FTEFNZH,
HIWRe. 888, F5TRBFAELK
B, TTWyFHTAEALBF. )

2. EAamy e ik
3. KA, HEE



TS EZWN T RAFHP)

diff 2 A5 B 1 4y A% B

olor | [RBRIE e |RSRRES

symsum Zk@iiﬁ[%ﬂ 1y fai AR
intRiHERTH, FERBEASERS

S1 =’ 6%x 3-4%x 2+b*x-5": S2 = sin(a)’ : S3
"sqrt (x)”;
int (S1), int(S2), int(S3)



RBRF K
RSN

Jg £

o £ 4 (FH1h)
g £ XA

IE D B I SF

fle+h) =~ f(x)+hf'(x)
) = flx+h)— f(x)

h
) — flx —h
oy L= tla =1
r+h)— flz—h
oy St sto =)
(x+ h)— f'(a
gy 2 L= 1)







54 (PIERIESTRKIES)
Z= 51 diff
B B gradient

BRI Srtra pz
R EETEFR 73 cumtrapz

BB quad, quadl
B —E iR 7 dblquad
BRE =FE 4> triplequad




FEHFIETH P

diff 15

Y = diff(X), WRBMA—NMKEInK—EFAE, NZREKEREKE

An-1 I E, FERERRFEMESEITRERIZEX(2)-X(1) X(3)-X(2) ... X(n)-
X(n-1)]

#iAX =[-8 674 95]; y = diff(x)

HZFy= 14 1 3 5 -4

WHRBMA—Mm*nI5ERE, MIRATER, SR2(m-1)*nf15ERE, HEH

1T ELE—1T

i N\ X=magic(4), Y = diff(X)

53] .

16 2 3 13
5 11 10 8
9 7 6 12
4 14 15 1

Y

-

1 9 7 -5
4 4 4
7 9 -11

th &



FEHFIETH P

diff X115 FH
x=0:0.1:1;

f=@(x)1+2*x-3*x.A2+4*Xx."3-5*x.AM4+6*X.N5;
(f=inline('1+2*x-3*Xx.A"2+4*Xx."3-5*x.M"4+6*x.N5');)

y=f(x); 15
d=diff(y)/0.1;
n=length(x);
plot(x(1:n-1),d,'r-.");
hold on;
0

10




quad {5 H
q = quad(fun,a,b), XffunBREfEa. bZ[EIRER 7, R EE
G E N1e-6

HI\F = @(x)1./(x.~3-2*x-5); quad(F,0,2)
BY & F =inline('1./(x.*3-2*x-5)'); quad(F,0,2)
B 3%)ans = -0.4605



il



3.3 BT HTIR

) ('I-ﬂ) — Yo

JE%—E‘%{%E# {y’ = f(r,y), (a<x<Db)

[h qjifﬁ,}_f;fg 'y(;lf-i—l—l)}— -y(;l‘-i) — 'y"(;r.f_ 4+ 6':’?) (U < < 1)
Ae7 ?
/H- 'y(;ri—l—l) — 'y(ir-i) + h-';f'a.'i.-‘f

+ i{] ﬁ{’-%:_ 7!3 kat!e — f (I'i + Qh’-‘ Y (LITi + Qh)) :

mmm AT RAn L, T A S BIUE O & FAAAE A d P 2 5 AF T )&
FEhoper XA A I EIRAGAL



FR A solver
odedd i
ode23 i
odell3
odeZst

odelds A
ode2ds AN
ode23th  fEA!

ODEFg<:C2

ERBEWD T EBUEM T, MATLABERSFERERH, 4

=]

R Ak 7 AR, P A R Runge- Kuttaik 9@, 0Bk,
N A AL, AR B AR A Runge-Kuttai: 89 =, Z 1 %
WSk 7 42, Adams-Bashforth-Moulton PECE% .

=]

=]

.

[P 7 A2, AR T RN K895 fk o (NDFs) ik
Wk 742, 1807 ik, 12815 E 69 Rosenbrock /2 K.

7
i
7
MR e ML A o AL, R B a RS R
4
4
Rk AL, Kk, 48R TR-BDF27 i .




35S A iR A
— AR

T, Y| = oded5(odefun, tspan, y0)

T, Y| = oded5(odefun, tspan, y0, options)

T, Y, TE, YE, IE] = ode45(odefun, tspan, y0, options)
sol = ode45(odefun,[t0,tf],y0,...)

9, B4mERBOUE odefun. m

BB RAERAT

options = odeset('namel’, valuel, 'name2’, value2, )
options = odeset(oldopts, 'namel’, valuel, )
options = odeset(oldopts, newopts)

odeset



ODE3&-4 472 2591 1
RIG—HEWMITTHE

Bly'=(y+3t)/t"2 ,y(1)=-2,1<t<4

odefun=@(t,y) (y+3*t)/t*2; % & X BREL
tspan=[1 4]; %>R A X [A]

y0=-2; %4J{H
[t,y]=0ded5(odefun,tspan,y0);plot(t,y) %1E &




ODE3gs < gmiR 5P 2
RF—Br HE W T REA
Bly1'=y2y3, y2'=-y1y3, y3'=0.51y1y2,
v1(0)=0, y2(0)=1, y3(0)=1, O<t<12
M5 rigid.m
function dot = rigid(t, y)
dot = zeros(3,1);
dot(1) = y(2)*y(3);dot(2) = -y(1)*y(3);
dot(3) = -0.51*y(1)*y(2);
H5ex1204.m
[T,Y] = oded5(@rigid,[0 12],[0 1 1]);
plot(T,Y(:,1),'-',T,Y(:,2),-.", T,Y(:,3),".")



ODEIESsmiB4BI3

RAETH WA I

2=y ...

d?x
i S yjs.m di
function dy = yjs(t, y)

3

.
.
bt

F(y,v,V"...v(n-1),t)=0 i & &
todefun NA R,

dx

— =4 ?ﬂfé"%’ﬁ‘%}z |t=0 = ;l‘-|t=0 ="

dy = zeros(2,1);dy(1) =y(2);dy(2) =4;

Zf5ex_yjs.m

[T,Y] = oded5(@yjs,[0 12],[1 2]);

pIOt(TIY(:I1)Il-'ITIY(:IZ)II-")



il



3.4 RIRMEDFTIR

Y 02
8 38 ;& . BN, Y X
i) A ('(')7—(1 W—{_W—}—W) B2, 9,2, t) =S5 (2,9, 2,1)
62 82 (-.)2 82
X1 2L (W i~ R = 322) @,y 2,0) = S (2,y, 2,1

RIREM: MBEAEAREH



pdetool

TR D T HRRKELTR

Bl POE Toolbox - [Untitled]

= | @] =

Fle Edit Options Draw Boundary PDE Mesh Solve Plot Window Help

O @O P®| B | 0 |PE| A L] = | =N |[ceneric Scalar .|| no7ase

Yo 4703

Set formula:

|R1

0
0 0.5 1 1.5 2 2.5 3 35 4 4.5 b

"

10

Info:

Select & newy plot, or change mode to alter PDE, mesh, or boundaries.




L REDITRRMEE
%1’5‘%’73-*% 'U/t = azu:z;x
u(z.t+ At) =u(x,t)  yulz+Axt) = 2u(r,t)+ulx = Ax.t)
At wo (Ar)?
BPou(x, t+AL) & - a* [u(x + Ar.t) = 2u(z.t) +u(z - Ar.t)|

T
pr=ilr, t=jAt i, j=0,1,2,-n, ?"{Tfﬂqﬁ

Ui j+1 = (1 - zr)ui,j =t r[ui-l-l,j + ui—l,j]

4 S u(x,0) = o(z)#hRui1 = @i,



O hREEIERME®
15 fmATAE Ak 9] AR

Uy = AUy,
w(0.t) =0, u(l,t)=0

u(:z:,t - 0) - 99(33)
Hd0<r<2, a=10H

() — {1, (10 < 2 < 11)

0, (z<10,z > 11)



TR D T IR R AR

clear;clc;
x=0:20;a2=10; r=a2%*0. 02 ;u=zeros (21, 101) ;
u(10:11, 1) =1 ;%52 A0 45 4+

for j=1:100

u(2:20, j+1)=(1-

2%r) *u (2:20, j)+r¥*(u(1:19, j)+u(3:21, j)) ;

plot(u(:, j));axis([0 21 0 1]) ;pause (0. 1)
end

surf (u)



il



	演示文稿1
	演示文稿2
	演示文稿3

